Maths Key Skills














Stage 5: Skill Check 14
Name: ___________________________________                              Date: _______________                  Class/Group: _______________________________

	A: Place Value, Add and Subtract
	B: Multiply, Divide and Fractions
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C: Measure, Geometry and Statistics

	1. Write < or > to make this correct:

          1,001,100                1,010,001
	5:1


	11. Circle all the factors of 32.
            3        4       12       16       18
	5:8

	21.       litre of Diet Cola costs 95p.
Sue needs 2 litres of Diet Cola.

How much does this cost her?
	5:23


	2. Write 671,109 in words.
	5:1

	12. What is the only even prime number?
	5:9

	
	

	3. Round 596,147 to the nearest ten.
	5:2

	13.                      2,093 x 5
	5:10

	22. What shape 

is this a net of?
	5:24


	4. What is the missing number?

    9,980        9,990                      10,010
	5:2

	14. 
             75.3 ÷ 1000
	5:11

	
	

	5. The temperature was -11°C then increased by 9°C. What is it now?
	5:3

	15. Circle all of the square numbers.

38      49    56    81    90
	5:12

	23. Translate

the shape:

4 units right
and 1 units

up.
	5:28


	6. What number is represented by these Roman Numerals?       MLXIX
	5:4

	16.

	5:13

	
	

	7. 
        390,340 + 5,475 =


	5:5

	17. Find an equivalent fraction of        .
	5:14

	24. Look at this bus timetable:

Oldtown
10:07
10:47
11:25

Swanby

10:23
11:03
11:43
Newfield
10:49
11:29
12:09
What time does the 10:23 bus from Swanby get to Newfield?

25. I want to be in Newfield by 12:00. What is the latest bus that I can get from Oldtown?
	5:30

5:30


	8.                 94,374 – 29,194 =
	5:5

	18. Write         as a mixed number.
	5:15

	
	

	9. Complete this sum without written working.         13,750 - 6,250 =
	5:6

	19. 
	5:16

	
	

	10. DVDs are £12.89 each. If I buy 2, how much change do I get from £30?
	5:7

	20. Round 12.56 to 1 decimal place.
	5:17
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